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(iii) 4-5 Jicn ~ JrRT #; ~ WT'J17T 150 ~ #; ~ /

(iv) 6 Jicn ~ JrRT #; ~ WT'J17T 200 ~ #; ~ /

(v) rfCfi Jri;r #; ~ift ~ W2[-W2[ eftW ~ /

General Instructions:

(i) Answers to questions carrying 1mark may be from one word to

one sentence.

(ii) Answers to questions carrying 3 marks may befrom 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words. ..

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1 .

What is meant by 'efficiency' in management?

2. >r~F'q fcR1 >rcfiR Oll Rh) 1d ~ cfiT >rrftr ~ '861;Q en~? 3C"JhSlcfi) Ni Cl>I

How does management help in achieving personal objectives? State.

1

1

Define 'planning premises'.

4. ~ R1M~'5 c<?lIRen cfiT iSllR;qj ~ ~ ~ ~ ~ ~ I ~ CfiT

~ SlRtR'"i 100 iSllRlll CfiT -Rmur CfiBT ~ I ~ ~ cfiT >rrftr ~ ~ Bm
~m-rn ~ >r<nB '8~ ~ d (f~ 3i r('1f1kl rr~~~ fcrf~ ~ - 'CfGl ~ 3TI'$FiR-

3'cl{GI~("c\ CfiT ~'q ~~ Cfi\ Wn ~ I ~ ~ ~ fcti -#R fCn'8Chl ftqli c8:"rTT I

3QU Cfd qfUfu~'q ~ ~ CfiT "'"ill1 ~ I 1
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Alliance Ltd. is engaged in manufacturing plastic buckets. The objective

of the company is to manufacture 100 buckets a day. To achieve this, the

efforts of all departments are co-ordinated and interlinked and authority-

responsibility relationship is established among various job positions.

There is clarity on who is to report to whom.

Name the function of management discussed above.

Explain how 'cost of debt' affects the choice of capital structure of a .•

company.

6. '~ J1~~CIft' ~ ~ ~ -q ~ ~~"CR 31tH ~'5I{JJ61 cfiT cx:rcff~ ~ I

~ ~ '5I{JJt cfiT ~mTt OQ IClB IfllCfi ~ Cfil 31tH 3q OQ<fi en) Cfi11 CfiG,

>rliICI~Td I Cfil ~ (f~ f~o~unm~CfilCfi11 CfiG -q B till d I ~ ~ I

31tH ~ ~ WT~ -q CfiRUT ~ ~ ~ ~ fcfl '~ ~1~~CIft' cfiT

CfiI4~n~ ~ cfiT 3"lICI~llCfidI~ 3"If'$f) #it <n Cfi11 I

'Indian Logistics' has its own warehousing arrangements at key

locations across the country. Its warehousing services help business

firms to reduce their overheads, increase efficiency and cut down

distribution time.

State with reason, whether the working capital requirements of 'Indian

Logistics' will be high or low.

66/1/1 3
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7. '~SlI'5C!{~ H~~'5' ~ SllllfdCfi ~ ~ ~ ~ ~ \JIl ~ ~·mm~
~ ~ ~ >rm~ im Cfi8 ~ ~ ~ ~ I CfiPVft 31l=R~ ~ ~

-qlm 1R31fmitf m11!ft cnr ~ cnt<ft ~ 3fn: ~ if ~ 1 ~ >rm~ ~

~ I ~ -;r~ 31l=R~~3TI qiT ~ cnt<ft ~ ~ ~ !f5 eft ~ wm if

m fCl~q1ft nsRft ~ I

'~ SlI'5Cf?:~H~~i IDD ~ ~ crrffi fClquH ~~ 31cf~ qiT

qt::i:lIRll> I 1

'Beauty Products Ltd' is a natural and ethical beauty brand famous for

offering organic beauty products for men and women. The company .•

uses plant based materials for its products and is the No. 1 beauty brand

in the country. It not only satisfies its customers but also believes in

overall protection of the planet.

Identify the marketing management philosophy being followed by

'Beauty Products Ltd.'

8. ~IRCflI ~ 'J1rJ4~Oi 1R~ liT ~ ~ -m eft Cf1Reft &lIH~1 eft ~ ~ eft I

~~~ ~IRCfiI ~~fcnCf1Reft &lIH;qj ~~-&tm~ I ~Cf1R

eft &lIH4l 1R ~ meft ~ eft 3fn: wn fcn ~ ~ t:T(1~lch ~ ~ 3fn:

SCflH(m ~ ~ liT ~ m~mm fcnm ~ I 31(f: ~ ~ ~ if ~ ~ICfiI;qd

~eftm~~IDD~eR:m-r11mI~~~~~~~

m(fm~ ~~ m 3fn:-m~~~~~~fW:rrfcn~

3111t :wfB ~ I

cp:n~I RCfiI ~ ~ ~ ~ ~ ~ :wfB eR:B"Cfi<ft ~ ? 31l=R~ ~ Wl~

if CflRUf~ I 1

66/1/1 4

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



On Sonika's birthday her mother gave her a pair of gold earrings. After

one month Sonika observed that the ear-rings are losing their shine. She

checked the mark on the ear-rings and found that it was not a proper

Hallmark and her mother had been cheated by the shopkeeper. So, she

filed a complaint in the district forum which rejected it. Not satisfied by

the decision of district forum, she was very much disturbed and after two

months decided to appeal further.

Can Sonika appeal against the decision of the district forum? Give

reason in support of your answer.

9. ~ ~ ~ 'CflI<!OlT,YCfl ~' CflT qm 3l~ ~? ~ ~ GT ~m CflT ~ .,

~I 3

What is meant by 'functional structure' of an organisation? State its any

two advantages.

3

Explain how the 'product related factors' affect the choice of channels of

distribution?

11. ~'~ 31TZf' ~ if ~ ~~ ~ I ~ if Slfd~'1 200 fCfciC:<1 31R

CflT '3("q I<:;'1 m zy;T ~ I ~ ~ <:f6 3'l1N 'R1 CfiGT ~ fcn '3("q I<:;'1 ~ Pi fCh"1 ~

~~~3fu"3Bif~~ctt~~m1~1~~~~~~

~ 3l~m ~ fcrcm: - ~ CfiG ~ ~ ~ ~ ~ 3fu~ ctt fCftcpfd ~

~ CfiT Cfll <!OlTf."Ci<1 CfiUfT ~ I

3

661111 5 [P.T.O.

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



Pramod was a supervisor at 'Annapuma Aata' factory. The factory was

producing 200 quintals of aata every day. His job was to make sure that

the work goes on smoothly and there was no interruption in production.

He was a good leader who would give orders only after consulting his

subordinates and work out the policies with the acceptance of the group.

Identify and describe the leadership style being adopted by Pramod.

12. '~~ ~ 3l~~ if ~s;a ~ ~i5("ql{?T ~ CfiT Rbql~'i ~ ~

m~ ~ ~ if ~ ~i5("q l{?T ~ R~ ~ I' ~. fcRff (fR CfiTlIT q;)

'Financial market plays an important role in the allocation of scarce

resources in an economy by performing many important functions.'

Explain any three such functions.

13. ~, '~ R1f?1~i if ~ ~ SlR1R~ ~ I ~.~ ~ crl if mo
;flChf{~i ~ ~ I Cffl ~ ~ m ~ ~ ~ ~ 3=ftR1 3'lq~fqj ~1&Glqct)

3fn:3'llq~~Ch ~ CfiT~ >r:Wr -;r cn8 ~ CfiT{UlCffl ~ ~ m~ ~ q;)

~ ~ ~ if 31Wl~ mm ~ I cn.qr -cn.qr Cffl1K1(f ~1&Glqdl CfiT>r:Wr .qr Cfi{ffi

~ ~ CfiRUTCffl eft 3l~ Bt:~MCl -;rcff Cfi\ 1ffifT ~ Cffl ~ ~ I ~ ~ ~q

~~~~ llflClY1i541 ~m~~ I

(31) 3q () Cf(1 qfUffi Bt:~t:l0 I '~T'mq;) q i5'tSlIRQ\ I

(~) ~ Bt:~t:lOI ~mq;)~ ~if qlffCflCl ~~fn:rCfiaTt ~ cfil~Q\ I

(~) ~ ~c€t~ 3fn:Bt:~t:lOI ~mq;) B~$I~Q\ I

Neeraj, a sales representative of 'Omida Ltd.' has changed seven jobs in

the last one year. He is a hard working person but is not able to finalise

deals with the customers due to his inadequate vocabulary and omission

of needed words. Sometimes he uses wrong words because of which

661111 6
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intended meaning is not conveyed. All this created a mis-understanding

between him and his clients.

(a) Identify the cominunication barrier discussed above.

(b) State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.

14. 'c;qIc:WI~Cfi q;qyq(OI' ~ CRn ~ ~? ~ ~ ~ ~ (fR ~~ q)l

~~I 4

What is meant by 'business environment'? State any three points of its

importance.
., t

4

( 31) ~ q)l 31f''qCfjR; o~

(~) ~ q)l 31f''qCfjR I

Explain the following rights of a consumer as provided under

Consumers Protection Act 1986 :

(a) Right to be informed; and

(b) Right to seek redressal.

16. ~ ~ ~ 15 Cfi4:qIR~1 ~ m~ ~"!lllftuT ~ ~ ~ m Jilcill~~ -.:nR
q)l 3fC11G'"1cn8 ~ ~ 'mfuT R1rq~s' ~ ~ ~ ~~:ql( 'CfillHt >rR~ ctt I

3ltR >I'Rfi'~crr:iT -q ~ ~ ~ ~ ~ fcfim I ~ ~ ~ ~ 3ltt

~ fClqOH ~ itCfi >refiT{ ~ m ~ ~ ~~R1o:~ ~ ctt l1TrT~ ~ I

3fC11G'"1cn1 ~ ~ ~ ~ cn13"1mRth CfiJ{:qIR41 ctt ~ CfiV:ft ~ I ~

~, it ~ BR ~ m~~~,cn1 ~ "Z!~rGl 31f'~ q)l ~ Cfi8T

~ I ~ ~ fCl~ql~ ~ fcfi 3ltR HuF.li cn1 ~ WT~ ~ cn8 ~ ~
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,.

31~2l ~ ~ ~ ~&'m,wr2f ~ m~'1~lOq<;lt 3fu: ~ ~ cn1~~

WT~ "ffi1iCfi8 CfiT3fHGIP!fCl ~~ t I ~ ~ qrtoll~ ~ 3fu: CfiPHt~

~ 31CRT3fCl1G'1~ ~ CflI~'4lcil® ~ ~ 3Nft ~-~ if m

~~~I 4

(31) ~ 3fq~ cn1 qi5~IRq:N1~CflI ~ m Blfu: :rm 3Nft CfiPHt c8
3lf% J;~I~~l(fCfi-0 ~ if ~&'m it TTm I.

(~) ~3fq~~~~~(fH~3TIcn1m~~~I~q:1

Samir Gupta started a telecommunication company, 'Donira Ltd.' to

manufacture economical mobile phones for the Indian rural market \i ith

15 employees. The company did very well in its initial years. A the

product was good and marketed well, the demand of its products ent

up. To increase production the company decided to recruit additional

employees. Samir Gupta, who was earlier taking all deci ions for the

company had to selectively disperse the authority. He believed that

subordinates are competent, capable and resourceful and can assume

responsibility for effective implementation of their decisions. This paid

off and the company was not only able to increase its production but

also expanded its product range.

(a) Identify the concept used by Samir Gupta through which he was able

to steer his company to greater heights.

(b) Also explain any three points of importance of this concept.

17. 'CXW1 Ri ill~:s' ~ Cfl4~ It) ~ ~ liTlp'fiT ~ Cfi8 ~ ~ 3Wffif cfr ~ ~ (f2lT

~ ClCfl;f)Cfl~ ~ "Cfl11l Cfi8 ~ ~ -;nff t I ~~Ri q: Cfl4~ ID ~&1cfi ~

3lRirt=m ~IlTG!tf'1cfr lifrT ~ \% t I Cfl4~lf{~1 ~ ~-~ ~ ~ CfiT{UT~&1cfi

1:R~%ml:~1
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~ ~ fcfi ~a:fCfi ~ ~ Cfll{:qIFt<Q1~ ~ q ~ CfJl G1<gICfl{~

~~~~-B~~~~~~?

&r (fR ~TmCflf·m ~ chl~ll: ~ Cfll{:qIFt<Q1CfJl ~a:fCfi ~ ~ ~ w >rm

~~I 4

The workers of 'Vyam Ltd.' are unable to work on new and hi-tech

machines imported by the company to fulfill the increased demand.

Therefore, the workers are seeking extra guidance from the supervisor.

The supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of

workers, can make them handle their work independently?

Also state any three benefits that the workers will derive by the decision

of the supervisor.

18. '3lfCrCflT ~£ll~ll' ql~llSfllOl, ql~llSfllOl fi6llll::f) q~ ~m fsnm31'f ~ lT1SWJT

w~ ~fiClTmOI fcrCfl"rB~ ~~Cl I~ DSRIT~ (f~ im mcRT CfJl ~ ~

~ I ~ ~"Rem -q-{ ~£ll~ll CfJl ~ ~ Cfll4SfllOl~ CfiBf ~ I Cfl14Sf)lOl

~m ~ tfl;1f ~ ~ GR'"R ~ ~ ~ ~ )Tqr-r ~ ~ ~ ~

~ I ~ ~ ~ fu<n fcfi ~\l1ICl2: ~ ~ ~ ~:~ ~ Cflf >r<WT

~ I ~~~ filOl;:qll cfil mq.:n 2,ft 3fR'Bm~~-~Cflf fi6<Qlll Cfi{

\% ~ I qRfqFtCfl ~~Cllfi ~ ~ ~ mq.:n ~ CfiRUT Cfll4SfllOlcxrqff~ ~ ~

H4'l~d ~ CfllllY~d m lTll"T1 CflIFcfCfl~, ~)Tqr-r ~ ~ ~ ~ ~, ~ ~'l1cr

~ fcfi ~ ~ ~ ~ H<Ql\l1'"l~ Cflllly;:qll'"l ~ ~ ~ ~ ~ ~ m~
rnOG:I~1 ~ ~.~ CfiT>r<WT ~ ~ I CT5 Cfll4SfllOl~ wf)~dl ~ ~ 3lf''$fl ~

~31T fcfi ~ ~ ftldl\lll CfJl"3"ffi rnOG:Hl CfJl ~ OllClfilll ~ ~ ~ ~

Cfi5T I ~ flldl41 ~~fcfiCT5~~tt~ rnOG:l~ Cflf~Cfi{\%~ I 4

(31) Cfll4SfllOl~ fiCfl~d I ~ ~ >r<WT ~ ~ ~tT ~ rnOG:l~ CfJl q6:q IHll: I
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(~) ~'q ctT"R GT fCl~l~dl3lf CfiT~ ~ m1:R 3QUm 3ij-C~G ~ >rcnm
~l~fFr:rrt I

(~) '31r1cfiT fCl~ I~~' IDD Bln\Jf en) B~~f?ld ~ ~ fcFtf GT ~ c€t ~

~I

'Aapka Vidyalaya' believes in holistic development of students and

encourages team building through a mix of curricular, eo-curricular and

sports activities. On its founders day a stage performance had to be put

up. A committee often prefects was constituted to plan different aspects

of the function. They all decided to use recycled paper for decoration. ~

There was a spirit of unity and harmony and all members supported each

other. With mutual trust and belongingness the programme was

systematically planned and executed. Kartik, one of the prefects realised

that unknowingly the group had applied one of the principles of

management while planning and executing the programme. He was so

inspired by the success of the function that he asked his father to apply

the same principle in his business. His father replied that he was already

using this principle.

(a) Identify the principle of management applied for the success of the
programme.

(b) State any two features of management highlighted in the above para.

(c) Identify any two values which 'Aapka Vidyalaya' communicated to
the society.

19. 'TffiT ~ i"B1f?1~s'~ fCl!tll~ 'Q,Ci "Jm\-1IDffiT"Cffffi ~ t~~ ~
~ ~ ~ CfiT 3f4IG"1 ~ t I ~ ~ ~ ~ ~ en) m.~ c€t ~

CfiGT ~ t 3fu: ~ ~ dCfl·1iCflcnffi ~ ~ ~ ~ cnl ~ Cfi\ m
t I ~ c€t 3lf''qCfi l1T5IT6H ~ CflT\UT~ en) <ftqCflIi"B1Cflfcrn c€t 3ilcH~Cfldl

t I ~ ~ f.luFr "fB1<n fcf; Cffl w:rnT 3ffl ~ m fcrn L;Cflbld ~ I w:rnT
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mil cit ~ Cf18 -q~ 3lf~ ~"ffiTffi ('"K112~H CfiTR) ~ ~ I~
"ffiTffi ('"K112~1'1 CfiTR) ~ ~ cit -qp Cf18 ~ fu"Q:CflPf.fi ~ ~ - ~ ~ ~

cit~-q~cnr~WrnI

(31) 3QU'ffi ~ ~ fu"Q:CflPf.fi ~ -~ ~ ~ ~ cnr >RITrT Cfl{ ~ ~

'3BCfiT -;rm ~ ~ ~ f1l4 $I~ll> I

C~) ~ ~ ~ lIT'ap1 ~ CfiP1rft fcfia.ft 31Cffu~ fu"Q:fcffl >rrn Cfl{~ ~ ?

(~) ~~cit3fu:~~~fu"Q:~-qBlm~~~? 4
'Ganesh Steel Ltd.' is a large and credit-worthy company manufacturing

steel for the Indian market. It now wants to cater to the Asian market and

decides to invest in new hi-tech machines. Since the investment is large,

it requires long-term finance. It decides to raise funds by issuing equity

shares. The issue of equity shares involves huge floatation cost. To meet

the expenses of floatation cost the company decides to tap the money-

market.

(a) ame and explain the money-market instrument the company can
use for the above purpose.

(b) What is the duration for which the company can get funds through
this instrument?

Cc) State any other purpose for which this instrument can be used.

5

State any five features of 'Planning'.

21. ~ ~Cft!iT ~ ~ '\311'iB '1 ~"2:UII~~B ' -q ~ B t: IIICfl ~ ~ 'YG11\ "Cfi'T'4

'Cfl\ uft ~ I Cffl ~ ~ >ffir ~ cfi:H &10.<1\(11~ ~ ~ ~ ~ "fl1f~ ~

~~~ ~ I~~'Cffm~ ~qIRI"d ~31T-m~~m"fl1f~~

<ffl 'BTt:rr fcfi ~ "*t ~ Q~I~RI m ~ I~ ~ "&T"ffi 'YGcit ~ ~ <Xifui
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'~tRJ' ~ ~ Wn TTm <it "Bm cnT ~ ~31T I ~ CfiRUT~ CfiT

~ ~ m TTm ~"3BCfiT RtlqlG'i fTrBT W' m TTm I ~ ~ ~ 31cR1{

~~ Cfi8T W' cgWn ~ ~ ~ ~~ cnT >rrn ~ cg 11fm~ I

~ tRJ, ~ ~ ~ ~ 7jf) ~ 3l~~ cnT -;r ~ ~ ~ ~,

~ ~ ~IJTG~Td ~ 3lf~ m ~ ~ I ~ ~ ~ Oll~~R eft 3Tn:

't,<:f"R Wn ~ ~ fc8n fcn~ RtlqlG'i -ij ~'CW fc8n.~ ~ ~ I ~

~ cnT ~ ~ ~-waFm ~ -ij ~11~(1 Cfi8T)fRl:~ cg Wn 3fR ~

~ ~ ~ ~ ~'Cl "BfiWr CfiTfu::m ~ Wn I ~ ~ ChlllT(1l1 -ij ~

lR 3lRfi ~ 3fR ~ R t5qIG'i -ij m ~'CW -m-r ri~ m TTm I

(i) tRJ~ RtlqlRd ~'Cl~~et!~~ I

(ii) ~'Cl ~ 3qUffi ~ ~ ~ (j(=Cf CfiT~ ~ Nltlch1 tl~I<!Oldl~ tRJ~

~ Oll~~R -ij ~'CW cg00 I

(iii) ~ (ii) -ij ~ ~ (j(=Cf et! ~ cfR ~~ltS1dI31l CfiT~ chlNl~ I

5

Smita had been working as an assistant manager with 'Johnson

Enterprises' for the last ten years. She was very popular amongst her

colleagues because of her commitment and dedication towards the work.

When the manager senior to her retired, all her colleagues thought that

now Smita would be promoted. But to everyone's surprise the vacant

post was filled by an outsider, Mrs. Rita. Smita felt demoralised and her

performance started declining. She would abstain herself often and could

not meet her targets.

Mrs. Rita was a good leader, who would not only instruct her

subordinates but would also guide and inspire them. She noticed Smita's

behaviour and felt that her performance could be improved. She started

involving Smita in decision making-issues related to the organisation

66/1/1 12
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and made her a part of high level joint-management committee. Smita

was now punctual in office and her performance started improving.

(i) Identify the function of management being performed by Rita.

(ii) Name the element of the above function of management which
helped Rita to improve Smita's behaviour.

(iii) State any three features of the element identified in (ii) above.

22. ~~ 'Qi1{il~' CfiT3(qIG'"1CRWT m~~ 31f~mrr~ ~ I~-qrm

Tfm fcfi ~ ~ ~ 300 ~ ~ CfiT"ff~ Cflq:ql{1 >rrn ~ CR 1lT \% ~ I

fCI~Jl~ol ~ ~ 1RfT~ fcfi Cflq:qRI ~ ~ ~ ~ I Rl'Jl01 ~ ~ ~ CflRUT

om Cfl4:qlf\~1 eft Cfilft ~ CflRUT~ ~ f.lmfur"ff~ cn1>rrn ~ CR 1lTWT

m 3fu: ~CflpqCfl ~m3TIeft 3"lICl~~Cfldlm I .

~ ~ mrr cn1~ cn8 ~ ~ ~ ~ ~ ~ fcfi WTWT 88 3"lrnfhfi

cfA:qlf{~1 eft 3"lICl~~Cfldlm ~ ~ 8 "fCIf~ fcr~ ~ 31~&TI ~ ~ ~ CfiT<:f

~ om 10 ~ 31~&T ~ 31~ 31~m ~ ~ ~ CfiT<:f ~ I 3"lICl~~Cfl

~3TI ~ CfiT<:f fCI~ I~d 13TIeft m~ crr.nffi ~ I ~ m~ iWn Tfm.fcfi

WRR ~ 3'd{GI41 ~ ~ ~3TI, ~ om mrftuT ~ ~ m om ~

~ ~ m q;) 3C"BI\%dcn8 ~ ~ ~ eft ~ I >rrf~ eft ~"\Il~dl3TIq;)

~ CfiT<:f eft ~ ~ m'4 ~ cn8 ~ ~ Bm)J(ffi1 ~ Tf"Q; I 5

(31) 3QU-ffiqfURnrcrf~~ ~ cn1Q6:qIR~ I

((if) ~ Tf"Q; ~ CfiT<:f eft ~ ~ ~ "G1~ CfiT~ cfM~~~ quf;{
~ 3"lj~cJG ~fcnmTfm~ I

(B) ~"G1 ~ eft ~ ~ ~ CfiPf.fi ~ cn1 f1lO~~d Cfi8T ~ ~ I

A company was manufacturing 'LED bulbs' which were in great

demand. It was found that the target of producing 300 bulbs a day was

not met by the employees. On analysis, it was found that the workers

66/1/1 13 [P.T.O.
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were not at fault. Due to electricity failure and shortage of workers, the

company was not able to achieve the set targets and alternative

arrangements were needed.

To meet the increased demand, the company assessed that

approximately 88 additional workers were required out of which 8

would work as heads of different departments and 10 would work as

subordinates under each head. The required qualifications and job

specifications were also enlisted. It was also decided that necessary

relaxation should be given to encourage women, persons from backward

and rural areas and persons with special abilities to assume responsible

positions in the organisation. All efforts were made to match the ability

of the applicants with the nature of work.

(a) Identify the functions of management discussed above.

(b) State the two steps in the process of each function discussed in the

above para.

(c) List any two values which the company wants to communicate to the

society.

23. ~~IRCfl ~'t:1 cfil "Q",CndCfl;fiCfl ~ ~ ~ 'CflIGlT,"iCfl q)·h~'i~lq' cnT "Q",Cnm cfil

'8t\IGldl ~ '8"i$I~Q\ I

With the help of a diagram explain 'Functional Foremanship' as a

technique of scientific management.

24. '~R1M~i"Q",Cn CfiP1;ft ~ ~ ~ m1lcnT3fCilC;'i ~ -® ~ I ~ ~ ern ~
~ e'PlldR 31vrn m~ ~ ~ m~I ~ cr:f m ~ ~ m~ ~ Cfi8 ~

~ m ~ I CfiP1;ft ~ 1ffi1 ~ ~ 3fR ~ ~ fclCflI'8 ~ ~ 31cRn:

~'t:1 ~ I ~ "Q",Cn~ ~'t:1(f WT&r ~ (f~ ~Olcrd I, U~ll R ~ "'811R
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~ crm ~ "l1fft~ qOG:R1"~l-qRI~q I~ ~ ~ I~ ~ ~ ~mtcfi ~

"it ~~'!R R~rnd ~>rrncn8cn1>rr~rnCfldl ~~ I

CfiPRT~ ~.tT:~.~. ~ 40 ~ ~ CfiT ~ fum ~ 3fu:~ ~~$hd ~

~ffi~~ ~~~~~m~ 3l~~1

CfiPRT~ <Sfit -q 3q~lm qof;r ~ W'mf tRCflTctt 3fu: ~ Cfl«n~ "it "l16 -Rum
~ ~ fcn ~ "IDU ~ CfiT fcn<r.n mTT >rfumfur fcn<:rr ~ 3fu: fcn<r.n mTT

RId ftd fcn<:rr ~ I

~qof;r~~~~~~'qRtRCflTcn1 q~:qIRq:3fu:~~$I~q:I

'Sarah Ltd.' is a company manufacturing cotton yam. It has been

consistently earning good profits for many years. This year too, it has

been able to generate enough profits. There is availability of enough

cash in the company and good prospects for growth in future. It is a well

managed organisation and believes in quality, equal employment

opportunities and good remuneration practices. It has many shareholders

who prefer to receive a regular income from their investments.

It has taken a loan of ~ 40 lakhs from IDBI and is bound by certain

restrictions on the payment of dividend according to the terms of loan

agreement.

The above discussion about the company leads to various factors which

decide how much of the profits should be retained and how much has to

be distributed by the company.

Quoting the lines from the above discussion identify and explain any

four such factors.
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25. ~~if '~'4I{I~'~~~~~fclf~~~~Cfi1~

Cfi@~ I~~if~, Rl*1l2:, fiI<3I~'4i(f2TT~ ~fUtf81d ~ l"{fcfi~

~Olch11~ Cfi1~ Cfi@~ 310: 3llH SIRI~ f?1~1c€t WRT if ~ 31fucn~

"ffift ~ I ~ 3iRI F("d1 ~ ~~31l CfiT R'4 fl4d ~ ~ £tGm~ ~ 3fu: ~

~31l CfiT 3lffiR mn 1R ~'C:fR~ ~ ~ I~ ~ -qfq ~ ~ ~ I

~ fclf~ fcgm ~ ~ l1T~<lll ~ m 3llH ~ c€t ~ ~ ~ m
~~31l CfiT ~ ~~ 1R, ~ l1ffi if (f2TT~ ~ 1R ~ ~~

~ ~ ~ I ~ CfiT ~ ~ ~ ~ R'4fl4d ~ ~ fclf~ ~~~~Ol dCfl;ftChI

Cfi1~~~1

~ 3ijv€§~ ~'4I{I~ wu 3llH ~ ~ c€t • if ~ fclf~ tR:Cfll ~

fi~')\lH Cfi1Cl1lH Cfi\(jl ~ I B tR:Cfll CfiT q~:qIPi Cl> ~ ~ ~ $i I~Cl> I 6

'Hayaram' is a famous chain selling a large variety of products in the

Indian market. Their products include chips, biscuits, sweets and

squashes. It charges a comparatively higher price than its competitors as

it sells quality products. Besides, it offers regular discounts to its

customers and easy credit terms to its retailers. It has five of its own

. retail shops. It also sells its products through various grocery stores so

that the products are made available to customers at the right place, in

the right quantity and at the right time. It regularly uses different

communication tools to increase its sales.

The above para describes the combination of variables used by Hayaram

to prepare its market offering. Identify and explain the variables.
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66/1/1 

MARKING SCHEME-2014-15 
BUSINESS STUDIES 

DELHI-66/1/1 
EXPECTED ANSWERS / VALUE POINTS 

 

DISTRI- 
BUTION 

OF MARKS 

1 Q. What is meant by ‘efficiency’ in management? 
 
Ans. Efficiency means doing the task correctly and with minimum cost. 
 

(or any other correct definition) 
 

 
1 mark 

2 Q. How does management help in achieving personal objectives? State. 
 
Ans. Management helps in achieving personal objectives by motivating and 
leading in such a way that the individual members are able to achieve personal 
goals while contributing to the overall organisational objectives. 
 

 
1 mark 

3 Q. Define ‘ planning premises’. 
 
Ans. Planning premises are the assumptions made about the future on the basis of 
which the plans are drawn. 
 

 
1 mark 

4 
 

Q. Alliance Ltd. is engaged in manufacturing plastic buckets. The objective 
of the company is to manufacture 100 buckets a day. To achieve this, the 
efforts of all departments are co-ordinated and interlinked and authority-
responsibility relationship is established among various job positions. There 
is clarity on who is to report to whom. 
Name the function of management discussed above. 
 
Ans. Organising. 
 

 
 
 
 

1 mark 

5 Q. Explain how’ cost of debt’ affects the choice of capital structure of a 
company. 
 
Ans. ‘Cost of debt’ affects the choice of capital structure of a company as low 
interest rates increase a firm’s capacity to employ higher debt. 
 

 
 

1 mark 

6 Q. ‘ Indian Logistics’ has its own warehousing arrangements at key locations 
across the country. Its warehousing services help business firms to reduce 
their overheads, increase efficiency and cut down distribution time. 
State with reason, whether the working capital requirements of ‘Indian 
Logistics’ will be high or low. 
 
Ans. Low, as it is a service industry, which usually do not have to maintain 
inventory. 
 

 
 
 

½  mark for 
identification 

+ 
½ mark for 

reason 
= 

½ + ½ 
= 

1 mark 
7 Q. ‘ Beauty Products Ltd’ is a natural and ethical beauty brand famous for  
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offering organic beauty products for men and women. The company uses 
plant based materials for its products and is the No.1 beauty brand in the 
country. It not only satisfies its customers but also believes in overall 
protection of the planet. 
 Identify the marketing management philosophy being followed by ‘Beauty 
Products Ltd.’ 
 
Ans. Societal marketing concept. 
 

 
 
 

1 mark 

8 Q. On Sonika’s birthday her mother gave her a pair of gold earrings. After 
one month Sonika observed that the ear-rings are losing their shine. She 
checked the mark on the ear-rings and found that it was not a proper 
Hallmark and her mother had been cheated by the shopkeeper. So, she filed 
a complaint in the district forum which rejected it. Not satisfied by the 
decision of district forum, she was very much disturbed and after two 
months decided to appeal  further. 
Can Sonika appeal against the decision of the district forum? Give reason in 
support of your answer.  
 
Ans. No, Sonika cannot appeal now as the appeal has to be filed within 30 days of 
passing of the order by the district forum. 
 

 
 
 
 
 
 
 
 
 
 

½ + ½ 
= 

1 mark 
9 Q. What is meant by ‘ functional structure’ of an organization? State its any 

two advantages. 
 
Ans. Functional structure is an organisational structure formed by grouping of 
jobs of similar nature under functions and organising these major functions as 
separate departments like production, finance etc. 
 
Advantages: (any two) 
(a) It leads to occupational specialisation since emphasis is placed on specific 

functions. 
 
(b) It promotes control and coordination within a department because of similarity 

in the tasks being performed. 
 
(c) It increases managerial and operational efficiency. 
 
(d) It lowers cost as it reduces duplication of effort. 
 
(e) It makes training of employees easier as it focuses on a limited range of skills. 
 
(f) It ensures that different functions get due attention. 
 
(If an examinee has given only the heading, ½ mark for each heading should 
be awarded) 
 

 
 
 
 
 

 
1 mark for  

the  
meaning 

 
+ 
 

1 mark for 
each  

statement 
= 

1 x 2 
= 

2 marks 
= 

1+2 
= 

3 marks 

10 Q. Explain how the ‘product related factors’ affect the choice of channels of 
distribution? 
 

 
 

½ mark for 
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Ans. Product related factors which affect the choice of channels of distribution 
(any three): 
(i) Nature of Product. 
(ii) Perishability of Product. 
(iii) Value of Product. 
(iv) Complexity of Product. 
 
(If an examinee has not given the headings as above but has given the correct 
explanation, full credit should be given) 
 

the heading 
+ 

½ mark for 
each 

explanation 
=  

1 x 3 
= 

3marks 

11 Q. Pramod was a supervisor at ‘ Annapurna Aata’ factory. The factory was 
producing 200 quintals of aata every day. His job was to make sure that the 
work goes on smoothly and there was no interruption in production. He was 
a good leader who would give orders only after consulting his subordinates 
and work out the policies with the acceptance of the group. 
Identify and describe the leadership style being adopted by Pramod. 
 
Ans. Democratic style of leadership. 
 
! A democratic leader favours decision making by the group. This improves the 

attitude of the employees towards their jobs and the organization thereby 
increasing their morale.  

! Using this style is of mutual benefit – it allows them (subordinates) to become 
part of the team and helps leaders (seniors) to make better decisions.  

 
 

 
 

1 mark for 
identification 

+ 
1 mark for 
each point 

of  
description 

= 
1 x 2 

= 
2 marks 

= 
1+2 
= 

3 marks 
12 Q. ‘ Financial market plays an important role in the allocation of scarce 

resources in an economy by performing many important functions’ Explain 
any three such functions. 
 
Ans. Financial market plays an important role in the allocation of scarce resources 
in an economy by performing the following functions: (Any three) 
 
(i) Mobilisation of savings and channelising them into most productive use. 
(ii) Facilitating price determination/ discovery. 
(iii) Providing liquidity to financial assets. 
(iv) Reducing the cost of transactions. 
 
 (If an examinee has not given the headings as above but has given the 
correct explanation, full credit be given) 
 

 
 
 

½ mark for 
the heading 

+ 
½ mark for  

each 
explanation 

= 1 x 3 
=  

3 marks 
  

13 Q. Neeraj, a sales representative of ‘ Omida Ltd’ has changed seven jobs in 
the last one year. He is a hard working person but is not able to finalise deals 
with the customer due to his inadequate vocabulary and omission of needed 
words. Sometimes he uses wrong words because of which intended meaning 
is not conveyed. All this created a mis-understanding between him and his 
clients. 

1 mark for 
identifying 
the barrier 

+ 
½  mark for 

naming 
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(a) Identify the communication barrier discussed above. 
(b) State the category of this communication barrier. 
(c) Explain any other communication barrier of the same category. 
 
Ans. (a) Badly expressed message. 
 
(b) Semantic barrier which arises from problems and obstructions in the process 
of encoding and decoding of message into words or impressions. 
 
(c) Other barriers in the same category are: (Any one) 
(i) Symbols with different meanings 
(ii) Faulty translations 
(iii) Unclarified assumptions 
(iv) Technical jargon 
(v) Body language and gesture decoding 
 
 

the category 
of barrier 

+ 
½ mark for 
stating the 
category of 
the barrier 

+ 
(½ mark for 

naming 
another 
barrier 

+ 
½ mark 
for its 

explanation) 
= 

1+1+1 
= 

3marks 
14 Q. What is meant by’ business environment’? State any three points of its 

importance. 
 
Ans. Business environment means the sum total of all individuals, institutions 
and other forces that are outside the control of a business enterprise but that may 
affect its performance. 
 
Importance of business environment: (Any three) 
 
1. It helps to identify opportunities and getting the first mover advantage instead 
of losing them to the competitors. 
2. It helps to identify threats on time which serves as an early warning signal. 
3. It helps in tapping useful resources so that it can convert them into output that 
the environment desires. 
4. It helps in coping with rapid changes in an increasingly dynamic environment. 
5. It helps in assisting in planning and policy formulation. 
6. It helps in improving performance by continuously monitoring the environment 
and adopting suitable practices. 
(If an examinee has given only the headings, ½ mark for each heading should 
be awarded) 
 

 
 
 

1 mark for 
the meaning 

 
+ 
 
 

1 mark for 
each  

statement 
= 

1 x 3 
3 marks 

= 
1+3 
= 
 

4 marks 

15 Q. Explain the following rights of a consumer as provided under Consumers 
Protection Act, 1986: 
(a) Right to be informed; and 
(b) Right to seek redressal. 
 
Ans. (a) Right to be informed: 
! The consumer has a right to have complete information about the product he 

intends to buy such as, ingredients, date of manufacture, price, quantity etc.   
! It is because of this reason that the legal framework in India requires the 

 
 
 
 
 
 
 

2 marks 
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manufacturers to provide such information on the package and label of the 
product. 

 
(b) Right to seek redressal: 
! The consumer has a right to get relief in case the product or service falls short 

of his expectations.   
! The Consumer Protection Act provides relief to customers such as 

replacement of product, removal of defect in the product, compensation for 
any loss or injury suffered by the consumer. 

 

+ 
 

2 marks 
 

= 
 

4 marks 

16 Q. Samir Gupta started a telecommunication company, ‘ Donira Ltd.’ to 
manufacture economical mobile phones for the Indian rural market with 15 
employees. The company did very well in its initial years. As the product was 
good and marketed well, the demand of its products went up. To increase 
production the company decided to recruit additional employees. Samir 
Gupta, who was earlier taking all the decisions for the company had to 
selectively disperse the authority. He believed that subordinates are 
competent, capable and resourceful and can assume responsibility for 
effective implementation of their decisions. This paid off and the company 
was not only able to increase its production but also expanded its product 
range. 
(a)Identify the concept used by Samir Gupta through which he was able to 
steer his company to greater heights. 
(b) Also explain any three points of importance of this concept.  
 
Ans. (a) Decentralisation. 
 
(b) Importance of decentralisation: (Any three) 
(i) Develops initiative among subordinates. 
(ii) Develops managerial talent for the future. 
(iii) Quick decision making. 
(iv) Relief to top management. 
(v) Facilitates growth. 
(vi) Better control. 
 
(if an examinee has not given the headings as above but has given the correct 
explanation, full credit should be given) 
 
(IF THE CONCEPT IS WRONGLY IDENTIFIED BUT THE POINTS OF 
IMPORTANCE ARE CORRECT, DUE CREDIT BE GIVEN) 
 

 
 
 
 
 
 
 

1 mark for 
identifying 
the concept 

 
+ 
 

(½ mark for 
the heading 

+ 
½ mark  
for its 

explanation) 
= 

1 x 3 
=  

3 marks 
=  

1+3 
= 

4 marks 

17 Q. The workers of 'Vyam Ltd.' are unable to work on new and hi-tech 
machines imported by the company to fulfill the increased demand. 
Therefore, the workers are seeking extra guidance from the supervisor. The 
supervisor is overburdened with the frequent calls of workers. Suggest how 
the supervisor, by increasing the skills and knowledge of workers, can make 
them handle their work independently? 
Also state any three benefits that the workers will derive by the decision of 
the supervisor. 
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Ans. Training of employees/ Vestibule training/ On the job training. 
 
Benefits the workers will derive by the decision of the supervisor: (Any three) 
(a) It helps in promotion and career growth due to improved skills and knowledge. 
 
(b) It helps them to earn more due to improved performance. 
 
(c) It reduces accidents as the employees are more efficient to handle machines. 
 
(d) It increases the morale of the employees as the employees are more satisfied. 
 
(If an examinee has given only the heading, ½ mark for each heading should 
be awarded) 
 

 
1 mark 

 
+ 
 

1 mark for 
each 

statement 
= 

 
1 x 3 

= 
3 marks 

=  
1+3 
= 

4 marks 
 

18 Q. ‘Aapka Vidyalaya' believes in holistic development of students and 
encourages team building through a mix of curricular, co-curricular and 
sports activities. On its founders day a stage performance had to be put up. A 
committee of ten prefects was constituted to plan different aspects of the 
function. They all decided to use recycled paper for decoration. There was a 
spirit of unity and harmony and all members supported each other. With 
mutual trust and belongingness the programme was systematically planned 
and executed. Kartik, one of the prefects realized that unknowingly the 
group had applied one of the principles of management while planning and 
executing the programme. He was so inspired by the success of the function 
that he asked his father to apply the same principle in his business. His father 
replied that he was already using this principle. 
(a) Identify the principle of management applied for the success of the 
programme. 
(b) State any two features of management highlighted in the above para.  
(c) Identify any two values which 'Aapka Vidyalaya' communicated to the 
society. 
 
Ans. (a) Principle of management - Espirit de corps. 
 
(b) Features of management: (Any two) 
 
(i) MANAGEMENT IS PERVASIVE. 
 
‘…he asked his father to apply the same principle in his business’. 
 
Management is pervasive as it can be applied to all types/ levels of organisations. 
 
 (ii) MANAGEMENT IS A GROUP ACTIVITY 
 
‘There was a spirit of unity and harmony and all members supported each 
other. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 mark for 
identifying  

the  
principle 

 
 
 
 
 
 

+ 
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 8 

 
Management is a group activity because it requires team work and/or coordination 
of individual efforts. 
 
(iii) MANAGEMENT IS GOAL ORIENTED. 
 
‘….the programme was systematically planned and executed’. 
 
Management is goal oriented as it unites the efforts of different individuals 
towards achieving organisational goals. 
 
(iv) MANAGEMENT IS MULTI-DIMENSIONAL  
 
‘…programme was systematically planned and executed’. 
OR 
‘There was a spirit of unity and harmony and all members supported each 
other’. 
 
Management is multi-dimensional as it involves management of work, people and 
operations. 
 
(v) MANAGEMENT IS INTANGIBLE  
 
‘With mutual trust and belongingness….’. 
OR 
‘There was a spirit of unity and harmony and all members supported each 
other’.  
 
Management is intangible as it cannot be seen but its presence can be felt in the 
way the organisation functions. 
 
(IF AN EXAMINEE HAS IDENTIFIED THE FEATURE OF 
MANAGEMENT CORRECTLY, FULL CREDIT BE GIVEN FOR 
EITHER QUOTING THE LINE OR GIVING THE STATEMENT) 
 
(c) Values being communicated to the society: (Any two) 
 
(i) Concern for the environment. 
(ii) Holistic development of children. 
(iii) Teamwork 
 

(or any other correct value) 
 

 
 
 
 
 
 
 

½ mark for 
stating each 

feature 
=  

( ½ x 2) 
=  

1 mark 
 
 
 
 
 
 

+ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
1 mark for 
each value 

= 
(1 x 2) 

= 
2 marks 

= 
1+1+2 

= 
4 marks 

19 Q. 'Ganesh Steel Ltd.' is a large and credit-worthy company manufacturing 
steel for the Indian market. It now wants to cater to the Asian market and 
decides to invest in new hi-tech machines. Since the investment is large, it 
requires long-term finance. It decides to raise funds by issuing equity shares. 

 
 
 

1 mark for 

www.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.inwww.studentbro.in www.studentbro.in



 9 

The issue of equity shares involves huge floatation cost. To meet the expenses 
of floatation cost the company decides to tap the money market. 
(a) Name and explain the money-market instrument the company can use for 
the above purpose. 
(b) What is the duration for which the company can get funds through this 
instrument? 
(c) State any other purpose for which this instrument can be used. 
 
Ans. (a) Commercial paper. 
It is an instrument issued by large and creditworthy companies to raise short term 
funds at lower rates of interest than the market rates. It is an unsecured, negotiable 
promissory note with a fixed maturity period.  
 
(b) 15 days to one year. 
 
(c) It can also be used for seasonal and working capital needs. 
 

naming the 
instrument 

+ 
1 mark for its 
explanation 

+ 
1 mark for 
duration 

+ 
1 mark for 
any other 
purpose 

= 
1+1+1+1 

=  
4 marks 

 
20 Q. State any five features of 'Planning'. 

 
Ans. Features of planning: (Any five) 
 
(i) It focuses on achieving organisational objectives. 
(ii) It is the primary function of management as it lays down the basis for all other 
functions of management. 
(iii) It is pervasive as it is required in all organisations, at all levels and in all 
departments. 
(iv) It is continuous because a plan is framed, implemented and is followed by 
another plan. 
(v) It is futuristic as it involves looking ahead and preparing for the future. 
(vi) It involves decision making as it involves a choice from among the various 
alternative courses of action. 
(vii) It is a mental exercise as it is intellectual activity of thinking rather than 
doing. 
(viii) It provides the basis for controlling by providing standards. 
 
(If an examinee has given only the headings , ½  mark for each heading 
should be awarded) 
 

 
 
 
 
 
 
 
 
 
 

1 mark for 
each 

statement 
= 

1 x 5 
 

= 
 

 5 marks 

21 Q. Smita had been working as an assistant manager with 'Johnson 
Enterprises' for the last ten years. She was very popular amongst her 
colleagues because of her commitment and dedication towards the work. 
When the manager senior to her retired, all her colleagues thought that now 
Smita would be promoted. But to everyone's surprise the vacant post was 
filled by an outsider, Mrs. Rita. Smita felt demoralised and her performance 
started declining. She would abstain herself often and could not meet her 
targets. 
Mrs . Rita was a good leader, who would not only instruct her subordinates 
but would also guide and inspire them. She noticed Smita’s behaviour and 
felt that her performance could be improved. She started involving Smita in 
decision making-issues related to the organization and made her a part of 
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high level joint-management committee. Smita was now punctual in office 
and her performance started improving. 
(i) Identify the function of management being performed by Rita. 
(ii) Name the element of the above function of management which helped 
Rita to improve Smita's behaviour. 
(iii) State any three features of the element identified in (ii) above. 
  
Ans. (i) Directing. 
 
(ii) Motivation. 
 
(iii) Features of motivation: (Any three) 
(a) It is an internal feeling. 
(b) It produces goal directed behaviour. 
(c) It can be positive or negative. 
(d) It is a complex process. 
 
(If an examinee has identified the element in part (b) as non financial 
incentive, full credit is to be given) 

 
 

1 mark for 
identifying 

the function 
+ 

1 mark for 
identifying 
the element 

= 
+ 

1 mark for 
each feature 

= 
(1 x 3) 

= 
3 marks 

= 
1+1+3 

= 
5 marks 

22 Q. A company was manufacturing 'LED bulbs' which were in great demand. 
It was found that the target of producing 300 bulbs a day was not met by the 
employees. On analysis, it was found that the workers were not at fault. Due 
to electricity failure and shortage of workers, the company was not able to 
achieve the set targets and alternative arrangements were needed. 
To meet the increased demand, the company assessed that approximately 88 
additional workers were required out of which 8 would work as heads of 
different departments and 10 would work as subordinates under each head. 
The required qualifications and job specifications were also enlisted. It was 
also decided that necessary relaxation should be given to encourage women, 
persons from backward and rural areas and persons with special abilities to 
assume responsible positions in the organisation. All efforts were made to 
match the ability of the applicants with the nature of work. 
(a) Identify the functions of management discussed above. 
(b) State the two steps in the process of each function discussed in the above 
para. 
(c) List any two values which the company wants to communicate to the 
society. 
 
Ans. (a) Staffing and controlling. 
 
(b) Steps in Staffing: 
 
(i) Estimating manpower requirements which involves knowing how many 
persons are needed and of what type. 
 
‘To meet the increased demand, the company assessed that …. subordinates 
under each head’. 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
(½ mark for 
identifying 

each function 
= 

 ½ x 2 
= 

1 mark) 
 

+ 
 

(½ mark for 
identifying 
each step 

+ 
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(ii) Recruitment which involves searching for prospective employees and 
stimulating them to apply for jobs in the organisation. 
 
(IF AN EXAMINEE HAS ONLY IDENTIFIED ‘ESTIMATING 
MANPOWER REQUIREMENTS’ AS A STEP IN THE STAFFING 
PROCESS, FULL CREDIT IS TO BE GIVEN) 
 
Steps in controlling: (Any two) 
 
(i) Comparison of actual performance with the standards which would reveal the 
deviation between actual and desired results. 
 
‘It was found that the target of producing 300 bulbs a day was not met by the 
employees’. 
 
 
(ii) Analysing deviations which would help to find out the causes of deviation. 
 
On analysis, it was found that the workers were not at fault….alternative 
arrangements were needed. 
 
 
(iii) Taking corrective action, if required. 
 
To meet the increased demand, the company assessed that approximately ….as 
subordinates under each head. 
 
(If an examinee has given the steps of the process not discussed above , ½ 
mark may be deducted) 
 
(c) Values which the company wants to communicate to the society: (Any two) 
(i) Using environment friendly methods of production. 
(ii) Women empowerment. 
(iii) Upliftment of underprivileged sections of the society. 
 

(or any other correct value) 
 

½ mark for 
either quoting 

the line  
OR  

stating the 
step 

= 
½ x 4 

= 
2 marks) 

+ 
(1 mark for 
each value 

= 
1 x 2 

= 
2 marks) 

= 
1+2+2 

= 
5 marks 

23 Q. With the help of a diagram explain 'Functional Foremanship' as a 
technique of scientific management. 
 
Ans.  

 
 
 
 
 
 

1½ marks for 
the diagram 

 
+ 
 

1 ½ marks for 
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Functional Foremanship (Any three points) 
 
! Functional foremanship is a technique which aims to improve the quality of 

supervision at shop floor. 
! Taylor identified a list of qualities of a good foreman or a supervisor. Since all 

the qualities could not be found in a single person, Taylor proposed eight 
specialists. 

! In this technique, planning is separated from execution.  
! It is an extension of the principle of division of work and specilaisation. 
! Taylor suggested four foremen for planning and four foremen for execution. 
! The four foremen for planning were route clerk, instruction card clerk, time 

and cost clerk and disciplinarian and four foremen for execution were gang 
boss, speed boss, repair boss and inspector. 

! The four foremen for planning would draft instructions for the workers, specify 
the route of production, prepare time and cost sheet and ensure discipline 
respectively. 

! The four foremen for execution were responsible for timely and accurate 
completion of the job, keeping machines and tools ready for operation by the 
workers, ensuring proper working conditions of machines and tools and 
checking the quality of work. 

 
(If an examinee has made an incomplete diagram but has named all foremen 
in the explanation, one mark may be given for the diagram) 
 

any three 
points 

= 
1 ½ x 3 

=  
4 ½ marks 

= 
1 ½ + 4 ½  

= 
 

6 marks 
 

 

24 Q. 'Sarah Ltd.' is a company manufacturing cotton yarn. It has been 
consistently earning good profits for many years. This year too, it has been 
able to generate enough profits. There is availability of enough cash in the 
company and good prospects for growth in future. It is a well managed 
organisation and believes in quality, equal employment opportunities and 
good remuneration practices. It has many shareholders who prefer to receive 
a regular income from their investments.  
It has taken a loan of Rs. 40 lakhs from IDBI and is bound by certain 
restrictions on the payment of dividend according to the terms of loan 
agreement. 
The above discussion about the company leads to various factors which 
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decide how much of the profits should be retained and how much has to be 
distributed by the company. 
Quoting the lines from the above discussion identify and explain any four 
such factors. 
 
Ans. Factors affecting dividend decision: (Any four) 
 
(i) Stability of earnings 
 
‘It has been consistently earning good profits for many years’. 
 
Stability of earnings affects dividend decision as a company having stable 
earnings is in a position to declare higher dividends. 
 
 (ii) Cash Flow position 
 
‘There is availability of enough cash in the company’. 
 
A good cash flow position is necessary for declaration of dividend. 
 
(iii) Growth Prospects 
 
‘Good prospects for growth in the future’. 
 
If a company has good growth opportunities, it pays out less dividend. 
 
(iv) Shareholders’ preference 
 
‘It has many shareholders who prefer to receive regular income from their 
investments’. 
 
Shareholder’s preference is kept in mind by the management before declaring 
dividends. 
 
(v) Contractual constraints 
 
‘It has taken a loan of Rs.40 Lakhs from IDBI and ….agreement’ 
 
While taking dividend decision, companies keep in mind the restrictions imposed 
by the lenders in the loan agreement. 
 

 
 
 

½ mark for 
identifying 
the factor 

+ 
½ mark for 
quoting the 

line 
+ 

½ mark for 
explanation 

= 
1 ½ x 4 

= 
6 marks 

25 Q. 'Hayaram' is a famous chain selling a large variety of products in the 
Indian market. Their products include chips, biscuits, sweets and squashes. 
It charges a comparatively higher price than its competitors as it sells quality 
products. Besides, it offers regular discounts to its customers and easy credit 
terms to its retailers. It has five of its own retail shops. It also sells its 
products through various grocery stores so that the products are made 
available to customers at the right place, in the right quantity and at the 
right time. It regularly uses different communication tools to increase its 
sales. 

 
 

½ mark for 
identifying  
the variable 

+ 
½ mark for 
quoting the 

line 
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The above para describes the combination of variables used by Hayaram to 
prepare its market offering. Identify and explain the variables. 
 
Ans. The combination of variables used by Hayaram to prepare its market 
offering are: 
 
(i) PRODUCT 
It refers to the combination of various aspects relating to the product or service to 
be offered for sale. It relates to decisions regarding planning, designing and 
developing the right type of products and services for the consumers. It includes 
branding, labelling and packaging. 
 
‘Their products include chips, biscuits, sweets and squashes’. 
 
(ii) PRICE 
Price Mix involves different Pricing Methods, Pricing strategies, Pricing Policies 
and Price Changes. It involves decisions regarding the basic price of the product, 
discount, allowances, terms of payment etc. 
 
‘It charges a comparatively higher price than its competitors’.  

OR 
‘It offers regular discounts to its customers and easy credit terms to its retailers’.  
 
(iii) PLACE/PHYSICAL DISTRIBUTION 
It includes activities that make firm’s products available to the target customers. It 
consists of all the activities involved in transferring ownership and physical 
possession of the product to the consumers. 
 
It consists of physical distribution i.e. activities involving the movement of 
products or services from producers to consumers as well as channels of 
distribution i.e. the route through which the goods move form the producer to the 
consumer. 
 
‘It has five of its own retail shops’.  

OR 
‘It also sells its products through various grocery stores….right time’. 
 
 
(iv) PROMOTION 
It consists of all the activities aimed at persuading customers to buy the product 
through advertising, personal selling, sales promotion and publicity. 
 
‘It regularly uses different communication tools to increase its sales’. 
 
(FULL CREDIT BE GIVEN IF AN EXAMINEE HAS NOT QUOTED THE 
LINES FROM THE ABOVE PARA BUT HAS GIVEN THE CORRECT 
EXPLANATION) 
 

+ 
½ mark for  

the 
explanation  

of the  
variable 

=  
1 ½ x 4 

= 
6 marks 
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